PITT Qube SEV-100X-AAA-O

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/10 13:59:19



PITT Qube

SEV-100X-AAA-O

No. i LLE Mg - HE BRI Eff T
1 011569102  |SE-100X #° ¥7° 5-A(3-41) ADC+Y3yh 1 22,800
"MADE IN
JAPAN"EN
2 011576301 SE-100X 777" 7" 39 b ADC+Yayh 1 10,200
3 011071706  |SE-100-ABE=E FC20 1 12,700
4 011566401 SE-100X 4VA° 5 FC20 1 6,200
5 011618804 [KTR-100 lRA 7 5~ (G) 1 6,500
6 011736301 KTR-100 Fvv&n" 7" 43 1 3,900
7 854255008  [J-M7yI+v ¢ 8 ¢ 8 5 200
8 011618703  |SE-100X itH 7 5> T(PS) ADC+Vay} 1 7,600
(0115674)
9 011075002 |SE-100-AMtH7 SV /Ry XY CR 1 1,500
10 011008101 SU-80L AVA° FFREED v & v — TO.3 3 200
11 011807903 |25A 7° 39" 93 PA244 2 600|PA-244(4971770-107274)
12 012364101 K300-DO-P 177" E R 1 0
13 011567802  [KTH-80X *#zaly-l HJ-25(B)BSIC|1 9,400
14 011763902  |SE-100 #v7°U»9™93(G) ADC G#¥ 2 9,100
15 011618902  |SE-100A #vy7°Y»)" (G-ADC) ADC 2 4,900
(0111477)
16 011047104  [SE-100 T DF = FIL(ADC) ADC 2 3,200
17 011147801 TO0A 197°UV9™ I\ v&Y NBR 2 1,000
18 940019120  |F-an" U 120 3 500
19 011121702  |SE-100 Ahb-1- SPC §%/3 1 8,400
20 012364401 SEV-100X-AAA-O£81R TMYT 1A 1 200
21 890455080 [0V 1516-80 1 1,700
NBR
22 889855090 |OY»y” P90 NBR 1 400

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/10 13:59:19




PITT Qube SEV-100X-AAA-O
No. mE & - HME B Eff iBE

23 743119080  |MAN It EELBASAET W M12X35 M12x35 [12 200
SWRM

24 743119067  [MAN ISR ESERANERIL b M10x40 4 200
SWRM

25 743119045  [MAN FILREEHERASAET W M8X20 M8x20 1 200
SWRM

26 827419010 [RAF v kM10 M101%&Hh |4 200
SWRM =1f

27 734532078 [NANRMNRIL b M8x70 SCM |4 200
CS

28 [012733001 [SEV-STV-100X X—2 % 3 Sl L2 1 32,200

29 011592301  [SE-100X Y3y - 26x12x5 1 400

30 012230701 [SERlOH A R/ARARIL TR Ba-k7hoy |1 300
#50+PET#16

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/10 13:59:19



